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Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁmv%ﬁﬁrﬂmeﬁﬁmﬁgﬁ%l
1. Medium Intelligence / HHH qu?
2. No Intelligence / ﬁ's‘ §@ '_‘133[
3. Higher Intelligence / 3= g@

4. Lower Intelligence / HG gf&

Correct Answer :-

« Lower Intelligence / HG §@

2) In child centred education, what the child has to learn should be / qTd-bfgd JQR’;IT 'l?f, T

DI o WET T3, 98 AR sien ariie:
1. Judged through activities ATfafafdat & Arend ¥
2. Judged by the scores of their test results/3-d URI&T URUMH & 3fpl I

3. Judged according to the ability, interest, capacity and previous experience of the child /S B

T, B, & 3R fUBd 3 Hd & AR
4, Judged according to the previous experience of the child A & U S{JHd & SIIR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child Cekdl

rd, S, &dT 3R fUsd Sya & SR

3) Child centred education typically involves: / dT¢T Ffad Rrem & emw 9k R =1 =nfre

1. on the spot assessments/JRd T i W) Hlih



2. no Assessmentsm_&‘F H\F\‘TIW EH

3. more summative assessments/31e/d D HeTh

4. more formative assessments /3D ITAATHD Jdih

Correct Answer :-

« more formative assessments /3 TATHD G

4) Which of the following are features of progressive education? / Frafafea o 9 w98

wiforiter Rigm @t fa=wang 82

1. Instructions based solely on prescribed text books A= wad Fyifa urea W TR 3T
g g

2. Flexibility on the topics that the student would like to learn/3-1 fawal o =g (ﬁm
ol BT e 9184 B |

3. Emphasis on lifelong learning and social skills/STta Td=T 3IfATH 3R ISP ST TR TR

Gl

4, Emphasis on scoring good marks in examinations/IRI&TS3N H 3w 3P T TR SR T

Correct Answer :-

« Emphasis on lifelong learning and social skills/STa= g+ 3ifATH 3R YrHTTS ST WR SR

=l
5) Performance intelligence is measured by: / UexH §® P %=1 & GRT 91aT STt %:
1. Verbal Ability/ AR &
2. Comprehension / HH
3. Numerical Ability / S&HTHD &HT

4. Picture Arrangement / et S

Correct Answer :-

« Picture Arrangement / IBEEICRII

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U® Tl 1 YHUGT & U H 3HF A qd- | JRAT I IHa1 31" T8
Sy fa Rigror Rigia wr smutfva &:

1. Instrumental conditioning / ﬁﬂm IR
2. Insight Classical conditioning/ 3{def® RRURT W& (318 FARidd dha I=If+T)




3. Trial and Error/ W—ﬁ% fafy

4. Classical Conditioning/ RRUTAR A Ude (iR e dhar=I=T)

Correct Answer :-

« Classical Conditioning/ TeRUTITSd Wb (SiTRichdl e IRI-1T)

7) The word ‘consistency’ is associated with: / qTeg “TTHRY” W@' et %:
1. Personality / Hfaad

2. Attitude / TG

3. Intelligence / g@

4. Motivation / TR

Correct Answer :-

« Personality / fadd

8) The prejudice against a person on the basis of sex of that person is ./ TP fed &

oI ¥ YR W, 39 aufed & f&ere yafug (varrd) gar gl
1. Gender stereotype / AP TlgTGdl (WX WIRIer3T)

2. Gender bias / TiT®H NEHTT (SISR TT331)

3. Gender identity / QiR UgEM (SSR TS S Sc)

4. Gender issue / QifTe TET (S8R HET)

Correct Answer :-

o Gender bias / < NeyTd (@?R CIERES)!

9) The smallest bone i.e. stapes in the human body is in the ear. /ATd IRR A a9

AT AN RASHAP Bt I
1. Inner/C’riET
2. Middle / ¥ H

3. None of these / E:I'Ef q ?ﬁ_sc ﬁ

4. External / dlg¥

Correct Answer :-

« Middle / S &



10) The last stage of psychosocial development is / AN faPTa &1 Sifaw =Ror % -
1. Identity v/s. Confusion / UgdId d-1H YH
2. Trust v/s. Mistrust / [d%T §H Sifdyr

3. Generativity v/s. Stagnation / 3GIRdl d-1H dgrId

4. Integrity v/s. Despair / &S dl IHH fARTRM

Correct Answer :-

« Integrity v/s. Despair / 3RGSdl §-TH R

11) The study of same children over a period of time is known as study. / U

ﬁruﬂ%awaﬁ@%ﬁqwaaﬁ%arwaﬁ ALY P U H ST
ST g |

1. Longitudinal / &Ia%?ﬁ GIRIEEE)

2. Cross-sectional / PIGIEkS I (w"m @W)
3. Latitudinal / ST (m)

4. Experimental / PIBIIRED

Correct Answer :-

« Longitudinal / S‘H%Ef (Flu'l:l'ﬂaa@_v-lﬁ)

12) Which of the following is a limitation of Eclectic counselling approach? / frafafead a

o1-H TeuRia Wt eR® i gwiffes safi i) $1 @ e

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

S IR VDI o1 AT ARV B! A B & [ srafies SR wmm=ierarsi
B TAGHT Bl |

2. more flexible approach of counselling / TR BT 3HfH ﬁ%‘iﬂw PP
3. more cost effective & practical approach / 3AfIH THTAT 3R AT PHI0T

4. more objective & coordinated approach of counselling / R & 3% A& 3R gafad

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

= IR VB D1 TATHS AR o1 i & & o sraftie $=d WRigrdarsi
B AT BT Bl |



13) Which of the following is the best way the teacher can guide children with special needs

in school education? / ﬁqﬁﬁaﬁﬁﬁq—waﬂm%ﬁv\ﬂﬁam&w ﬁmmﬁﬁr&n i |
faRiv sravgsarsi ard g=il 1 AnfeRlq #R 9Hd &2

1. Give higher challenging tasks / 3HfeH ﬂ:ﬁ?ﬂ'@fmﬁ
2. Give more tests / 3T TRIE0T ¢T

3. Providing support and tips / {-I‘é'q\l‘l 3R d<dld ol

4. Provide more homework /31® TG UGH HRAT

Correct Answer :-

 Providing support and tips / FETﬁT[ 3R g<id o

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / FAfIfEd o & &1 91 TRl @t SraRgFHarei & UerIHd 8 HHaw wH ot
TITISH AT BT T IGTEXI 57

1. Esteem needs / G P STaRIHATT
2. Self-actualization needs / 3TH-SNY DY XGPS EILY

3. Safety needs / GRE&T 1 HTIIHATY
4. Love and belongingness needs / ®IR Td 3T DI HARIHATY

Correct Answer :-

« Safety needs / gR&T i ALY H Y

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? / mﬁﬁmmﬁﬂ'@ﬁw, YTATITd & HIEAH
H AfdiIe B o1 DI Ha T9Y forar s

1. Naturalistic intelligence / Q'I?fﬁlﬁ[?ﬂ §@
2. Spatial intelligence / LB @@
3. Interpersonal intelligence / fadafaas g@

4. Emotional intelligence / HIdIIH® @@

Correct Answer :-

« Spatial intelligence / R @@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / T =it B g el SR & o0 Uep R fiaar 8 | f5a gedioror srgat
BT YN foHaT S 7T 82



1. Variable ratio reinforcement schedule / R S{UId ‘{;J,EG‘\IOTNUI W
2. Intermittent reinforcement schedule / TaRTRA® WUT G‘IW

3. Partial reinforcement schedule / 3{ifRT WUT HW
4. Fixed ratio reinforcement schedule / 3T SUTd GEdIHR0T gl

Correct Answer :-

. Fixed ratio reinforcement schedule / F3d S{JUId g%a‘ﬂw W

17) One of the characteristic features of a Constructivist unit of study is that: / €I 4|

TS TAATHGAAIG SPIS D1 U a2yar 98 § f&:

1. It starts with what children know as an effective departure point for the lessons. IExscal R[> 3T

3 It B b o= e & forw wep wvrdl o feig & w0 @ S §

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / SIE) (é@
Iy hY Y Y S EN N
3R FTd SR (3RIZTHT) BT I Had (Y TG T HIRA BT b a- BT 8T g |

3. It is propagated solely through teacher instruction. /dg tl;Uhi fR1&/ & Mo & AT o
EEIRSACRICIGI

4. Asking questions is discouraged in the learning process. / U4 Y51 SHfTH &t Ufcbar &
gdlcTod PRl 5|

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. IERED R[> 31
2O Bt & f 5= Ut & fore uep uuTdt g fofg & 0 /1 SFd ] |

18) Reading skills can be best developed by: / U6 DI B e bl GRT 99 331
e faw i foar s 9w @:

1. Writing answers / 3R [eRa1

2. Playing word games /doing quizzes / TS 1 W/ fdd S

3. Focusing on the use of words in the text / UId T Yeql o IUTNT IR &M dbigd HRAT

4. Doing vocabulary exercises / RICACRIRES TS|

Correct Answer :-

« Focusing on the use of words in the text / UTd T Teal & STINT IR & diod BT

19) Irrespective of the kind of impairment, all children are capable of: / o<t ypR @t

UYAr & dravig, I v g ¥ gem g §:
1. Movement / E|F‘Ie[



2. Hearing / “v:ﬁef
3. Learning / ESiRGE ]

4. Seeing / o

Correct Answer :-

« Learning / e

20) What are inborn patterns of behavior that are biologically determined also called? /

HEER F T=TeITd O i) sfta-Rgm ¥ sgar FufRa 819 € 32 ug W w1 wmar 2:
1.1d / Ugdd

2. Drives / §Igd

3. Instincts / Il T4

4. Intelligence / g@?ﬁ-ﬂ

Correct Answer :-

o Instincts / doul AT

21) What are the symptoms of Post- traumatic stress disorder in children? /a=i # uy-

TETd a9 fIPR (N crifed wd fEasiisy) & e w32

1. Avoiding places or people associated with the event./ Yl | \_{],@ I g1 AT Y ST

2. Having to think about or say something over and over. / §R-dR &S He- T 39H IR H

e

3. Not have an interest in other people at all. / g3 g I%Ic@ﬂ SSEEKE]

4, Becoming annoyed with others./ §FR.|' AR BT

Correct Answer :-

 Avoiding places or people associated with the event./ Yl | @% Y] 1 AT §9T

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / {7 UHR &1 Rigid a8 WRgd Frar 8 & e T el w®
R owar 8 o 59 & ATers | 93T B2

1. A deterministic theory / U fAgfdare Rigid

2. A social theory / Udh T Rigid

3. A nature theory / U UTdhidd Rigid




4. A nurture theory / Teh UTA-UINUT Rigid

Correct Answer :-

+ A nature theory / WW Rigid

23) What type of thinking is associated with creativity? / fog yoR o1 fia '\‘!\_ﬂ:l?ﬂ?l?ﬂ g
Heiftra ghar g2

1. Convergent thinking / SR A

2. Divergent thinking / 3{¢{iT -

3. Insightful thinking /3D T (ZTARCHd fAfHT)

4, Transductive thinking / gRAT % T (;iﬂsf&cq fil'm

Correct Answer :-

« Divergent thinking / 3¢ g

24) Who introduced the theory of Universal Grammar in language development?/ HTUT

fawra & gfada IR & Risia o feam o= fear
1. Piaget / oS

2. Vygotsky / ATZTTcqeh!

3. Skinner / RHR

4. Chomsky / TATRIeD]

Correct Answer :-

« Chomsky / ATRIDI

25) Intelligence is a product of both and environment./ Q@Tﬁﬂ, 3R

TTaRUT SIFl T TP SIS 2|
1. Culture/m

2. Community / HHalJ
3. Heredity/ W&IWT

4, Society / JHII

Correct Answer :-

« Heredity/ 3{TdfRIbdT



26) The Minnesota Paper Form Board test is a test which measures one’s

/et w918 v, te whiem e S feft St S Amarg)
1. Verbal Reasoning/ A& ddh

2. Aptitude/ TTAT

3. Personality/ Sfacd

4. English Skills / 30l ®12r@

Correct Answer :-

. Aptitude/ TGdT

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Ut STA Ca Tﬁﬁ-l'lg & A BT WW%
o fafirs yorrelt 1 99 HvA & for weT wTaT 31 59 g1 w U E FAafafaa A @ we
T TR =M gIme

1. Evaluation / HedTeh1

2. Convergent thinking / SR
3. Divergent thinking / JOORT fidq

4, Learning / HfERTH

Correct Answer :-

« Divergent thinking / 3OO} fia=

28) Classical conditioning was developed by: | FATRIP A P [T (ﬁ?ﬂﬁ@ﬁ
WG a1 IR SgaeH) - 3 9 foras g1 fawfa fear man 8:

1. Bandura /E\IJ'UE'RT
2. Pavlov / UTddId

3. Kohler/a'ﬂ—b'a?
4, Piaget / oot

Correct Answer :-

« Pavlov/ Urgdid

29) Selecting specific stimuli through sensation is a characteristic of: / TdeAT & ATeAH |
fafRry IEIu= &1 Iu= FA F1 Afaeor 8:

1. Attention / 3{dYTH



2. Critical thinking / 7T IEGE
3. Concept / IAYURT

4, Perception /Eh‘il

Correct Answer :-

+ Perception /Eﬁ‘ﬂ

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development?/mqgﬁm%%ﬁwmﬁ%%mwmﬁm
%Wﬁﬁmﬁwm%ﬁ-whmwwaﬁﬁmﬁaw%mmm
PIAl B2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./

TS o= S U P § T §U 3104 TR & die Ugaral §, Qi ¥ YRR Hf Bl v
ST |

2. A child dresses up as ‘fireman’ for a fancy-dress competition / Bt 3?[ gfaiTar & felT U
EN o
S B & ©U H AR 8l 8|

3. A high mountain will be thought of as ‘old”/ T% 3d Uad I "GRIT HHT S|

4. A car which won’t start will be described as being ‘tired’ or ‘ill’/ TYdb X ISE] RICS) qﬁﬁ?_cﬂ
WTG@‘WEW‘ 7 §H R CRIRIRSILIN

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / it @QF g & foe Uh
EN .
oI HRREE & %0 § R gidl o

Topic:- General Hindi (L1GH)

1) T AP & TEH A U TR BT HY et
9T STATH X PHER HIUat g5 A

qE YT aS ST SIel UTS 8

a1 39T Ry

1 Yaq IaHR UG 3T a1 gR BT B NRAGR
T AP B TRA A

I% g+t 3t frermar amam 8 wrhe e &

S 99 3R DI Afed a1 & it &

el gty

T U § T B ATgH



TAT STdT § Hehdl g3MT TP 348G A

TG WD E1 TITS Bt JUTA IgT 8

ST FREdT 81 43T e &1 T geT g3iT JTHTH
ot 39 TG faTaT g SudT A

w19 a5 -t a

TRAWS | oF 96 TAT § SHPT Tl

RO 1Y BISelT §F STHTE 3% SIell gaim

SATaTe & G T $© FRan gan

Tt g=1 T FY gTew FuTan

H1 A TAT 3T 8 WADR PTWR
FH.Fft g ai a3 SHPTHIY

gg gam & fore fb g% ardpar A8 @

3R Tz % v & T s wwar §

T ST GHT T

IR SHST JTaTe H o T f9e A1 TS &t §
T U TR B AT 1 36T B &l HIRAA 7

34 fawerar a8t

IS ASIdT GHST T I8¢

o Uy o1 yew R Y@ WM a1d Uk #7 3@ 9413t
U= UM 1Y BISAI TS ......... 3% 8IdT §31T°, 3 Ufe A HIH-HT Xeg 81 82
1. 3B

2. 9%

3.

4, X

Correct Answer :-

2) O TAS & T o UK TR ST 91y St
I8 JATATS Y3 HHR HIuc g3 A

I8 G A P BT HIE &

1 39T R

T Ugd IaHY WG 31T aTaT gR BT HIs RIdGR
@I TS Dt IR |



9% U+t It FAreTar Sman 8 urhe o1 |

TS WF 3R DI Afed arl & ST §

el ARG

T 37 T B ATgH

QAT ST § Hedhdl g3 TP 38 o

9 ISR g1 RITS P HUTA 8T &

ST T 81 4381 A $T NS geT g i
ot 39 UG faTaT g1 SudT S

W9 98 T o

TRAWS A Od 96+ AT § SHBT Tl

TROT ATY B g TG 3R gl gt

SATATH & IRG ST $3 e gam

AW} IRe1 A B @Ted Semar

FE1 A T HTAT § WTABR BT W

FtF it ag A § e STPdTAY

T8 Sa & for b g erpen et @

3R g5 for s A T ST Awan 8

T ST b7 IAT

3R ISP 3rarer A ot TP e A AT A ?
T T TR B &1 1 IS P o BRI §

39 fawerar 7gt

I T GHSAT ST 91T

3T Uy 1 yew HiE Y@ WM a1d WA o7 3@ 9a1st|
U 98 Uod Iad? W+ 3 aTaT gr &1 7 gl Jhdl 82
1. g AHR

2. BIg RIAGR

3. BIs HATHl

4. BIg HATBR

Correct Answer :-

. g RECR

3) T=I MUS & TS S U W@R ST 1Y et
98 STAT Y3 FUR BTt gg AN



T8 4B TS PTBICT UK T

1 39PT Ry

1 Ugd TadHR WG 39 9161 R $1 D5 RIAGR
T AP B TRA A

9% 31Ut [ e oman g Wi 1A @

S 99 3R DI Afed a1 & i &

el gty

T Y T B ATgH

AT ATl § Yedhdl g3 TP 3Tgg A

A9 AR § TITE BT HUTd 381 8

AT G 81 431 A T NS FeT g ari
o 39 UG faeTa g1 ST =

W9 a5 AT o9

TRAWS H OF 96 T § SHPT Tl

UROTT HTY SISt §3 IATE 3 §iaT g

STATH | IRG ST 3 RRar gam

a1t =1 IR B eTe SeTar

HY1 | T AT 3 WAPR BT TR

s fi o s SuPT Iy

¥ 9 & forg i 7% srbar 1éi @

3R g% fos e & T s w@ar 8

T ST b7 INT

3R IHH! SaTe A 5t T e A GATS Ao @
T Y TR DI ST 36T DI &Il HIRAA§

¥ fawerar A8t

ITB! GIAT FHST ST A1 ¢

fu ¢ verier Y ygH] R YR oA 91d URA BT Ik 9a18¢|
W RITH 1 A §U 98 S JWHedl § 81 TS &1 N geT gorl..... ?
1. gTHA

2. GRUMH

3. gHH

4. 3fHEE

Correct Answer :-



4) TSI THAF & TgM O WIRY WR BT 1Y Selt
qE 3T Ga¥ PHSR piue g5 0

9 Y TS BT BIET HIS &

1 ITPT g

T Ugd IaHY G- 3T a7l R BT HIg NIAGR
@I TS Dt IRA |

9% ST+t Yot fAreTar ST 8 U o1 |

AP oF 3R DI Afed -l & ST §

G gHT T 8

T 37 § T B ATgH

QAT ST § Hedhdl g3 TP 38 o

T4 WTASR g1 RIS DI HUTA 8T &

ST g 81 4381 A HT NS geT g3 i
ot 39 UG faTaT g1 SHdT S

W9 qg iffear o

TRAWS § Od 96+ AT § SHBT Tl

TROT ATY BIS g5 TG 3R gl gt

ST A I 9T $8 FRar ganm

T} IRe1 TS B @Ted Sera

FEI | T SATAT § TAPR T TR

FHl-F 1 ag i €1 2 a1 & STBT Y

I8 Sa & for b g e et 8

3R g% for fs A T ST AwaT 8

T ST b7 IAT

3R ISP 3rarer A it TP Fewes A AT A R
T T TR $1 &1 1 IS P o BRI §

39 fawerar Agt

I AT GHSAT ST 13T

3T Uy 1 yew AR U@ WM a1d R o7 3@ 9a1st|
WR: HS P ) T TN TAPR Bl A el SATaT 82

1. 91



2. HUS
3. @leq

4, {THIT

Correct Answer :-

5) BT MAS & T S U &R BT A1y it
qE 31T Yar FHER HIudt g§ &t

T 4B TS BT BT UIE @

a1 39T R

1 Yod TP ARG 3 Tl &R BT B NIAGR
QI TS St IRA |

qg AU I e ST § Wi o1 @

S &9 ) B Afed a1 & i &

el calnit

T 37U A B ATgH

AT ATAT 8 HeHdl §3IT TP 3gg A

TG AP §T TITS Bt JUTA IgT 8

ST FREdT 81 48T e &1 i e §3iT JTHT=
ot 39 TG faTaT g SHdT A

w19 a5 @ a

TRAWS | oF 96 Tl § SHPT Tl

RO 1Y BISelT §F STHIE S¥ SIell gaim

SATaT & G ST B FRan gan

Tt g=1 T B gTew FuTan

FE A T AT § AP BT TR

- pWf a5 i €1 3 qaT 3 SHPTHIY

Tg gam & fore fb g% arpar A8 @

3R g i o A T s wwar g

T ST GHT T

IR SHST JTaTe H o T e AT TS &t §
T U TR B ST 1 36T B Wl HIRAAF

34 fawerar a8t



IHD AT AT ST 11T

faT ¢ veri=r Y ygH] R YR oA 91d URA BT Ik 9a1g¢l

W BT AP B TR | a8 U1 [T e A Fyerrar smar g2
1. YT T 9§

2. HHHTA

3. 3MYfTh BT

4. ARG &1 L3

Correct Answer :-

. TRASE Y

6) GBI TS & T A YR} TR &7 A1y it
I8 ATATST [Y&X HHGR Hiac g8 A

9 4B TS BT BT UIS §

a1 39T R

T Ugd TaHR WG 3T I R BT Dy RIAGR
QI TS $t IRA |

9% 31Ut [ e oma g Wi o1 @

S &9 3R B Afed a1 & it &

Gl g1 g &

T 39 T B ATgH

AT ATAT § HedHdT §3IT TP 3eg o

a9 WAPR B WITE BT JHTA T &

TRAT G 81 4381 A T N FeT gl A
ORI 39 TG feTaT g ST 9

w19 98 i@ a

TRAWS H 9F 96 Tl § SHPT Tl

TUROTT 1Y SISt §5 IATE ¥ Bl g

TS A I ST T fvar gan

Tt =1 T FY eTew JuTdan

H1 | T AT 8 WWAPR BT TR

.o a5 i €1 3 ST 3 SHPT AT

gg gam & fore fb 9% ardar A8 @

3R Te b i A Tman o wpar @



T ST BT I

IR SHST JTaTe H o T {9 A1 TS &t §

T 3T TR B ST 9 IS B &l B3

N fawerar 1t

I ASIdT GHST T I8¢

o U v ®1 yew R U@ WM a1d Uk o7 3@k 9413t

U= Y& AP B ST AT &A1Y TGP R DI SIS & STdl 82

1. R

2. Tt

3. UgH

4. I oY HIRY

Correct Answer :-

. TEH O U

7) T TS & T o U TR b1 A1y it
I8 ATAT Y3 HHR HIuc g3 A

I8 G TS P BT HIE &

a1 39T R

T Ugd IaHY G 31T Tl R BT HIg RIAGR
BT TS Dt IRA |

qg AU I FraTar St § Ui o1 |

S &9 ) B Afea a1 & sia &

T YBTEAT S

T 39 § I B Arad

QAT ST § Hedhdl §3iT U 3Hgg o

T4 WTAPR g1 TIT§ P HUTA 38T &

ST FHEdT 81 48T e &1 TS geT g3iT JTH
ot 39 TG faTaT g1 SHdT S

9 qg i o

TRAWS A od 96+ T § SHBT Tl

TROIT 1Y BISdl §5 ST 3K gaT gl

ST A I ST $O FRar gan

Tt g=1 T Bt gTed JuTan



Hel | TCT 31T § FAPR BT WX

Ft st ag A o e ST Ay

I8 ga & fore b g e et @

IR g f5 R A T s 9war g

T ST BT IAT

3R ISP 3rare A ot TP e A TS A R

T T TR P &1 1 IS P o BRI §

4 fawerar =8t

I G GHSAT ST 91T

3T Uy o1 yew iR Y@ WM a1d R o7 3@ 9a1su|
W: WWABR & ATHH F Hid {60 PR & Aafwral It 3R Hdbd B @132
1. I T dTedl i 3R

2. AU T IGHR GRYH B dTcd Bt 3R

3. Hd TdTcIsh| Bt 3R

4. Sl aTell BT 3R

Correct Answer :-

o A0 H IGHR GRYH B a1 DI 3R

8) TSI TS & T il R TR 1 A1y it
I8 ATATS Y3 HHR Hiac g3 A

I8 GBI TS P11l HIE &

1 IHPT Rrsx

1 Yo TSR WG 3T T g1 BT P13 RIAGR
@I TS Dt IRA |

9% 3u+i1 3t fremar Smam @ urhe Bra |

AP Wd X DI Afed -l & ST §

@ gHT T 8

T 37 § T B ArgH

AT ATl § Yedhdl g3 TP 3Tgg A
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ot A o @2 Frae § IR STaAT IS TG e Heal, FIas A WK 71 ST 2, $US A & o &1 3
IR R FHas 33, T8 et B a1 1 aran 3R AT Fhas & forg feht &) gy =& et a5
wa guTf 2, fbg dewuar & 919 ) g1 380 f Pras A po pu died T 81 Tea A w8 fh s BT
959 Yo 81 AP & TN WX, TR P Iardl UR YAl IR W F P HUS! & A 0 99 Fas & O
TN qHE B &1 FATTUT AN Bt UEY H U1 g st & et & fore ag 391 9gd Wi 21 Wie! ad g0y



it afe IUH Bas 1, THTY SHHY BT T 31 1Y, a1 I arie D a7 A GI-G & o1d &1 W &,
Pras $T A Ad & T favrs Srar g1

T8 & fFIR 19 Bas GEHR ITP ¢S 8l d 8, a9 d fpa Fex ffwd &1 Tarer wft & 5w 36
TPS! A WK USdl §, 79 YUY §T WX O §1E USd 7| A far Hial 9@ o9 awaa ok e sidas
TP-H1 e g3 ST 8, 99 98 T $O BH QGAGId el §1dT1 3 B BT Y§ YN 6 & oM W 39
TR TS 3R 39 Ble-g8 Ueht Iad €, a9 &9 ARG M 3R [T fid ¥ 37 Uefis, Wed TR &
T P TR R-gX a9 Sifpd 3T W T 3T PRAT A o1 BT 3571 g4 gidl 81 fPR oia Pias wrar
@ B WHIA 319 gl S1Y, d9 T, 3 U1, H4, %, 96 SIe P UgRE 39 UX 3ifhd gid & Sud! T
3R g g1 3R fih w19 Y Heuw Ure g+t Wil I Fias o1 Ag FR AT § dsd ¢ a4 711 fFar sifdea
el 3R A & Rigl A 7! aRved & HRAT g &1 R sfae € 59 o7 a@ # foran 8)-8an v
giaT 81 Pras ST 81 ) T & A a1 Riy & P ok a9 | it 71 81 &t W Tura uga=n @il

SR 3 T T B uge TR IR T U BT I« 9q15¢l
TS BIIS oG 81 d b Afed & b uga =nfew?

1. THAT 3R H1)

2. THaT 3R Tarat

3. TgHet 3R qddsl

4, TTT 3R Ry

Correct Answer :-
. T 3R Ry

22) 3(TS1 Gag Ud § $O W 3THYUD 81 UT| T B ART AHT IwR A o} F | 39 fo=m & wrer a4
HUTE § H AT U411 URg g € S A ww ) o g o= € wet off Tt 7 1 ), 7wt I fmn
FR-Bd Wt fHan @R HR Jbdl? TWA-3T T8 & d1ed 4d T 9 81 T 3R guUTshH 37 &1 3Ry &t
B T §H ATHTRI BT g B &, Gt BT 9ufq Fa €, TRl o1 quiq #a 81 W Bias $7 quiH Haft
fot A o @2 Frae § IR STaT IS TG 81 Heal, FIas A WK a1 ST 2, $US A & o &1 3
IR R FHaS 33, TT et B a1 781 Tran 3R AR Fhas & forg feht &) gy =& bt a5
wa guTdf &, fbg dewuar & 919 o) g6 380 f Pras § po ov died T 81 Tea A w8 fh s BT
959 Yo 81 TRAP & TN UR, TR P Iardl UR 3YaT IR W F P HUS! & A 0 99 Fas & O
TN WG B 3| FaAmys arn Hf Ugt & uee gu gt & aval & fore gt 31 95 Wig 81 Wil dd Iy
1t afe IHH Fras BT, THTY SIHY BT I 3T A1, df I& AT P Ay dl GU-G &) 9 &1 W
Pras BT Ad g 99 favrs Sran g1

T8 & fFIR 19 BIas JEHR IUS ¢Phg 8l od &, a9 d fha- Fex fewd &1 rer Rft & 59 3+6f
THSI H ¥R USdl §, 79 WY §T WX o 19 usd §1 78 fPaR diel 9o o9 wwad ok Rien sigas
TH-91 Bl g3 BT 3, 79 98 T $O HH GaHRd 8! 81d1l §H P1US $1 YF YN $S @ 01 W 34
TR T 3R 3T Bie-a2 veht =ed €, a9 &9 TG M 3R a1 fiw ¥ I vefig, 9 TR &
T B TR R-g¥ a@ ATPd 3@ T I YT BRAT A 9 i 357 9 gl 81 fhR e Fas wrar
W R FHH 319 8l 91, 99 T, 34 Ur8, A9, NS, 991 3dIie & UgRg 39 R ifhd gid § ST&! T
3R & 81 3R fbR o9 3 Henw Ure vt i F Fhus o A B 3muy § dsd & a9 7Y A sifdpa
TR ik Hii & REl @ 9 ARved $ HRIT g o1 R 3faer & 50 eu o A Rrar 81-8ar v
BT 8| Pirs 3@ 8 o 71 & A a1 Riy & PR 3R 3= | it 7 8 &Y e Tura vgeen wiikel

SR &8 7T iR B UgHR A U T U &1 SR 9a1gv|
U= IR =1 R B gapelt 4
1. T SGaAAT

2. Iugad gt



3, TR

4. DTS Ul BT

Correct Answer :-

23) 3T YaE Yd A $B WA AU 781 1| TP A 211 SwR A ot ot 3 fmm & arer qr 3
HHTE B X 3 ATl IRy 959 6 IS | 99y ¥ ) wd g famm € sret ot Ei 7 7€ &Y, a5t swR famn
F-HIP W fFaa TE X IHdI? JWA-TWd 981 & d1ed 4d T S 81 MY 3R gurhy 27 &1 Ry €
Bl T4T| §H 3(TPHTRI BT qui B &, Yot BT quiq Hd &, TATRAI BT JuiH B § | TR DI BT qui- it
et A forar 82 Frus A W SToFT DI He T8 Hdl, s | TR 131 11 7, HUS A 81 o1d &1 37
R R Dis I, T 6 o) a1 781 avrar iR sHifeng Fius & o fbedt 1 gergyfa 78 a1 a8
¥9 gurd 2, fbq dewuar @ 919 4 g0 3@ P Has § $° 1 dicd 781 21 ugd dt a8 i Fras w130

959 Yor 21 TP & TNl R, TR P Iaral W SYaT IR R & Siadt $ust & e 50 99 Fas & 9
mmaﬂﬁélWﬁﬁf?ﬁﬁﬁﬁgﬁﬁmﬂﬁ@%m%muﬁwmm%mﬂaaﬁw
it afe ITH Bas 1, THTY StHY BT T 31 1Y, O I arde o Ay a1 GI-G 8 o°d &1 W &,
PaS BT A Ad & I favrs Srar 21

T8 & P 19 PHas @R TP ¢Ps ol IMd 8, a9 d fraq Yer fewa &1 e el @ wa 3=
TSI § N USd] §, 99 Y@ ¢ TN oY 1 Usd ¢ A frR el oo o9 gaaa o fae sitas
T-1 el §3MT ST 8, 9 I8 TXY $© HH GaRd o1 ¢idT| 51 P1dg $T Y8 U $ @ o1 W 34
TR T 3R 3T Ble-g8 Ueht gad €, a9 &9 TG M 3R SN[aT1 fiD T I Uefs, Hed TR &
W?ﬁm‘gg\r X % 3ifhrd 3@ 3t T U HRAT A T Pt 351 &4 gidl 21 FhR w19 Fius wmer
@ TR WHIA 319 8l WY, 99 T, 34 U1, 44, %S, 961 3¢ & Ugg 39 W 3ifdrd g1d & Sud! 2T
AR A1 3R R o &) TR IS R W @ w3 A IR AU § v aw 78 R o
el 3R A & Rigl A 7 aRtved & HRAG g &1 R sfie € 59 $¢9 a@ | forar 8)-ur v
ghaT 81 Pias ST 8 a) T & fFAr a1 Riy & fFar ik a9 | it 7 81 @t W Tura uga=n @)

SR A T TR B UgHR A IR ¢ ¥ BT I« Iyl
U= fag & 1 8 B GRI-GW & Wi 82

1. gHcH

2. TRH

3. 3ffd X

4, UThidd T
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24) 3TS1 Yag 7d § $T W 3THYUP g1 UT| T B ARY AHT IwR A o} fF | 39 fo=m & wrer a4
HUTE § H T U411 URg g € NS A ww ¥ g wod qd oz € oet off T 7 7€ ), 7wt I f=n
FR-Bd W fHan TER HR Jbdl? SWA-3T T81 & d1ed 4d T 9 81 T 3R guUTshH 37 &1 3Ry &t
B TT| §H ATHTR BT g B &, Jdt o7 9ufq wa €, Ser=ral o1 qoie #a 81 W Fias &1 quiF Haft
<t A o @2 Frue § IR STaT IS TG e Heal, FIas A WK a1 ST 2, $US A & o &1 3
IR R FHas 33, T8 et B a1 1 aran 3R AT Fhas & forg feht &) gy =& et a5
wE g §, fbg dera@ A AR A gH 3@ P Pras A po pu died T 81 Tea A I8 fr g w13
959 Yo 81 TRAP & TN W, TR P lardl UR YAl IRR W & P HUS! & A g0 99 Fas & O
TN qHE B &1 FATTUT AN Bt UEY H U1 g st & e+t & fore ag 391 9gd Wi 21 Wie! ad 9wy



it afe IUH Bas 1, THTY SHHY BT T 31 1Y, a1 I arie D a7 A GI-G & o1d &1 W &,
Pras $T A Ad & T favrs Srar g1

T8 & fFIR 19 Pas GEHR ITP ¢S 8l d 8, a9 d fpa G fiwd &1 Tarer wft & 5w 3=6Y
THS! A WK USdl §, 79 YUY §T WX O §1E USd 7| A far Hiell 9@ o9 awaa ok e sidas
TF-31 T G3HT EeT 8, 19 98 T $O FH GIURA T8I 31411 IH FIIS HT Y8 HIT T Y@ I W SH
TR TS 3R 39 Ble-g8 Ueht gad €, a9 &9 ARG M 3R [T fiY VX 37 Uefis, Wed TR &
T P TR R-gX a9 Sifrd 3T W T 3T PRAT A O BT 3571 g4 eIl 81 fPR o9 Pias wrar
@ B WHIA 319 gl S1Y, d9 T, 3d U1, ¥4, %, 96 SIe P UGG 39 WX 3ifhd g1d & Sud! T
3R g g1 3R fih w19 Y Heuw Ure g+t Wil I Fias o1 Ag FR AT § dsd ¢ a4 711 fFar sifdea
el 3R Wi & Rigl A 7 AR ved & HRAT g o1 R sfe € 59 $¢7 a@ § foran 8)-8an v
giaT 81 PHas ST 81 ) T & A a1 Riy & fFAr ik a9 | it 71 81 @t W Tura uga=n wnfzu)

SR A T TR H yeH R U T ¥RA BT I« qa1se|
U: URATA G5 $T QT 31089 H51 [ord g1 $T W gl 82
1. R o=

2. HeH G

3. AdA o

4, G oG
Correct Answer :-

. FeHTE

25) 3(TS1 Yag Ud § $© W THYUD g1 UT| T BT ART AHT IwR A o} F | 39 fo=m & wrer a4
HUTE § H T U411 URg g € NS A ww ) o g fomm € oiet off T 7 € ), 7wt Iw fmm
FR-B Wt fFan 7T HR Jbdl? TWA-3T T8 & d1ed 4d T 9 81 T 3R guUTshH 37 &1 3Ry &t
B T §H ATHTRI BT g B &, Gt BT 9ufq Fa €, TRl o1 quiq #a 81 W Bias $7 quiH Haft
folt A o @2 Frae § IR STAAT IS TG T8 Heal, Fas A WK a1 ST 2, $US A & o &1 3
IR R FHas 33, IT et B sres1 7181 Tran 3R AT Fhas & forg fFeht &) gy 78 et a5
wq guTdf &, fbg dewuar & 919 o) g6 381 f Pras & o v died 781 €1 U ) 98 [ FEs BT
954 Yo 81 TRaP & TN UR, TR P SIardl UR YAl IR W F P HUS! & A 0 99 Fas & O
TN WG B 3| FaAmys arn Hf Ugt & uee gu gt & aval & fore gt 31 95 Wig 81 Wil dd Iy
Wt afe IHH Fras BT, THTY SIHY BT I 3T A1, o I& AT PP Ay 9N GU-G &) & &1 W
PraS HT A Ad g1 99 favrs Sran g1

T8 & fFIR 19 BIas JEHR IUS ¢Phg 8l od &, a9 d fha- Fex fewd &1 rer Rft & 59 3+6f
THSI H ¥R USdl §, 79 WY §T WX o 19 usd 81 78 fPaR diel 9o o9 wwad ok Rien sias
US-H1 el 31§11 8, 79 I8 T $O U GAUR T8l 11| A IS BT Y§ UNT $ TH o W I
TR T 3R 3T Bie-a2 veht ed €, a9 &9 TG M 3R a1 fiw ¥ I vefig, 9 TR &
T B TR qR-g¥ a@ ATPd 3@ T I YT BRAT A 9 i 35T W gl 21 fbR e Fas wrar
W R THH 319 8l 91, 99 T, 34 T8, A9, NS, 961 3dlie & Ugig 39 R 3ifhd gid § ST&! T
3R 81 3R fbR o9 3 Henw Ure vt i F Fhs o A B 3muy § dsd & a9 7Y A sifdpa
TR ik i & REl & 9 AiRved $ HRAT g o1 R sfaer™ & 50 eu o A R 81-8ar v
BT 8| Pirs 3@ 8 &t 71 & fhae a1 Riy & PR 3R 3= | gfta 7 8 &Y e Tura vgen wiikel

SR A T TR B vgw R YD ¢ URA T @R Ia13Tl
v fRfSal & uefs weif & T P e fewd g 2

1. Gfgor TRET

2. Tl &



3. ST &
4. He URAT &

Correct Answer :-

. A URATS

26) 3T YaE Yd A $° WA ATHYS 781 UT| T P A 211 IwR A ot 41 3 fmm & arer qr 3
FHTE B X 3 ATl IRy 959 6 UIS | 99y ¥ ) wd gd famm € sret ot Ei 7 7€ &Y, a5t swR famn
F-HIP W fhan TE X IHdI? JWA-TWd 98T & d1ed 4d T S 81 MY 3R gurhy 27 &1 Ry §
€l TT| §H 3ITPHTRI BT qui B &, Yot BT quiq Hd &, STATRAT BT qui B § 1 IR BIgS b1 qui- it
et A forar @2 Fras A W SToFT DI T 781 Hedl, Fas | TR 1S §1aT1 7, HUS A 81 o1d &1 3
RR W Bis I, T 6 o) a1 781 avrar iR s Fius & e et 1 gergyfa 78 a1 a8
F9 gurd 2, fbq dewuar @ 919 4 g6 3@ P Has § $° 1 dicd 781 21 ugd dt ug i Fras w130

959 Yor 21 TP & TNl R, TR P aral W SYal IR R & Siadt $ust & e 50 99 Fas & 9
mmaﬂﬁélWmﬁﬁ@ﬁmgﬁ@%mﬁ%muﬁwmm%mﬂaaﬁw
1t afe ITH Bas 1, THTY SHHY BT T 31 1Y, a1 I arie D Ay a1 GI-G & od &1 W &,
PaS BT A Ad & I favrs Srar 21

Tt & PR 19 PHas @R TP ¢Ps ol Id &, a9 d fraq Yer fewa &1 e el @ wa 3
TSI d N USd] 3, 99 @Y ¢ TN oY 1 Usd ¢ A frR el oo o9 gaaa 3R fae sitas
T-1 el §3M1 SIdT 8, 9 I8 TXY $© HH QR 181 ¢IdT| 51 P1dg $T Y8 U $ @ o1 W 34
TR T 3R 3T BIe-g8 Ueht gad €, a9 &9 TG M 3R SN[aT1 fiD T I Uefis, Wed TR &
W?ﬁm‘gg\r X a9 3ifrd 3@ 3t T U HRAT A T Pt 351 74 gl 21 FhR w19 Fius wmer
@ TR WHIA 319 8l WY, 99 T, 39 U1, ¥4, ¥, 961 3¢ & Uge 39 W 3iferd g1d & Sud! 2T
AR A2 IR R o &) T IS R W @ w3 A B A0 § v aw 78 R oifra
el 3R A & Rigl A 7 aRved & HRAG g &1 R sfie € 59 $¢9 a@ | forar 8)-un v
ghaT 81 Pias ST 8 a) T & fFAr a1 Riy & fFar ik a9 | it 7 81 @t W Tura uga=n @)

SR A T TR B UgHR A IR ¢ YT BT I« Iyl
T : Pras & g Far 78 e

1. gt

2. Gerfa

3.8

4. gl
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27) 319 Y5 Td W $© W SATHYD &1 1| 37 &t I MH1 I A oot ot s e d e dra &t
HUTE § H T U411 URg g € NS A ww ¥ g wod gd gz € oet off T 7 w1 ), 7wt I f=n
FR-Bd Wt fHan @R HR Jbdl? SWA-3T T81 & d1ed 4d T 9 81 T 3R guUTspH 37 &1 3Ry &
B T §H ATHTR T g B &, Jdt b7 9ufq wa €, STer=ral o1 quiq #a 81 W Bias 1 quiH Haft
<t A o @2 Frae § IR STaAT IS TG e Heal, Fas A WK 71 ST 2, $US A & o &1 3
IR R FHas 33, T8 et B a1 1 aran 3R AT Fhas & forg feht &) gy =& et a5
wa guTf 2, fbg dewuar & 919 ) g1 380 f Pras A po pu died T 81 Tea A w8 fh s BT
959 Yo 81 AP & TN WX, TR P Iardl UR YAl IR W F P HUS! & A 0 99 Fas & O
TN qHE B &1 FATTUT AN Bt UEY H U1 g st & et & fore ag 391 9gd Wi 21 Wie! ad g0y



it afe IUH Bas 1, THTY SHHY BT T 31 1Y, a1 I arie D a7 A GI-G & o1d &1 W &,
Pras $T A Ad & T favrs Srar g1

T8 & fFIR 19 Bas GEHR ITP ¢S 8l d 8, a9 d fpa Fex ffwd &1 Tarer wft & 5w 36
TPS! A WK USdl §, 79 YUY §T WX O §1E USd 7| A far Hial 9@ o9 awaa ok e sidas
TP-H1 e g3 ST 8, 99 98 T $O BH QGAGId el §1dT1 3 B BT Y§ YN 6 & oM W 39
TR TS 3R 39 Ble-g8 Ueht Iad €, a9 &9 ARG M 3R [T fid ¥ 37 Uefis, Wed TR &
T P e R-gX a9 Sifrd 3T W T 3T HRAT A o1 B 3571 g4 eIl 81 FPR o9 Pias wrar
@ B WHIA 319 8l S1Y, d9 T, 3d U1, 34, %, 96 SAIe P UGG 39 UX 3ifhd gid & Sud! T
3R gt g1 3R fihx w19 Y Heuw Ure v+t Wil I Fias o1 Ag HR AT § dsd & a4 -1 frar sifea
el 3R A & Rigl A 7! aRved & HRAT g &1 R sfae € 59 o7 a@ # foran 8)-8an v
giaT 81 Pras ST 81 ) T & A a1 Riy & P ok a9 | it 71 81 &t W Tura uga=n @il

SR 3 T T B uge TR IR T U BT I« 9q15¢l
US: PSS T YY U Y@ W H1H-3 Ut ST R aera & ?
1. HIad

2. DI

3. O

4. S
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28) 3(TS1 Yog Ud § $O W 3THYUD g1 UT| T BT ART AHT IwR A oA} fF | 39 fo=m & wrer a4
HUTE § H AT U411 URg g € S A ww & g o qd fmm € oiet off Tt 7 1 ), 7wt I f=m
FR-Bd Wt fHan @R HR Jodl? SWA-3T T8 & d1ed 4d T 9 81 T 3R guUTshH 37 &1 3Ry &t
B T §H ATHTRI BT g B 8, Gt BT 9uiq Fa €, TRl o1 quie #a 81 W Bias $7 quiH Haft
fot A o @2 Frae § IR STaT IS TG 81 Heal, FIas A WK a1 ST 2, $US A & o &1 3
IR R FHaS 33, TT et B a1 781 Tran 3R AR Fhas & forg feht &) gy =& bt a5
wa guTdf &, fbg dewuar & 919 ) g9 380 f Pras § po P Hied T 81 Tea A w8 TP s BT
59 Yo 81 IRaP & TN UR, TR P lardl UR YAl IRR W F P HUS! & A 0 99 Fas & O
TN WG HRd 3| FaATHF arn B Ugt & uwe gu gt & ava & fore adt 31 95 Wig 81 Wil dd Iy
1t afe IHH Fras BT, THTY SIHY BT I 3T A1, df I& AT P Ay dl GU-G &) 9 &1 W
Pras BT Ad g 99 favrs Sran g1

T8 & fFIR 19 BIas JEHR IUS ¢Phg 8l od &, a9 d fha- Fex fewd &1 rer Rft & 59 3+6f
THSI H ¥R USdl §, 79 WY §T WX o 19 usd §1 78 fPaR diel 9o o9 wwad ok Rien sigas
TH-91 Bl g3 BT 3, 79 98 T $O HH GaHRd 8! 81d1l §H P1US $1 YF YN $S @ 01 W 34
TR T 3R 3T Bie-a2 veht ed €, a9 &9 TG M 3R a1 fiw ¥ I vefig, 9 TR &
T B TR R-gR a@ ATPd 3@ T I YT HRAT A 9 B 357 W gl 81 fhr e Fas wrar
W R FHH 319 8l 91, 99 T, 34 Ur8, 99, NS, 961 3dIie & UgRg 39 R ifhd gid § ST&! T
3R & 81 3R fbR o9 3 Henw Ure vt i F Fhus o A B 3muy § dsd & a9 7Y A sifdpa
TR ik Hii & REl @ 9 ARved $ HRIT g o1 R 3faer & 50 eu o A Rrar 81-8ar v
BT 8| Pirs 3@ 8 o 71 & A a1 Riy & PR 3R 3= | it 7 8 &Y e Tura vgeen wiikel

SR A T TR B vgw R YD ¢ URA T @R Ia13Tl
U fraq g 3m) 3R w1 ! % ugfig s91d @2

1. IUYad H Y B8 el

2. T ARG 3 3R UoT diey



3. T ARG 3111 3R AT Uied
4. OTE ARG 3 3R W iy

Correct Answer :-

o 1 ARG MY 3R 3Tty

29) 3T YaE Yd A $o WA ATHYS 781 UT| T P A 21 IwR A ot ot 3 fmm & arer qr 3
HHTE B X 3 ATl IRy 959 6 IS | 99y ¥ ) wd g famm € sret ot Ei 7 7€ &Y, a5t swR famn
F-HIP W fhan TE X IHdI? JWA-TWd 98T & d1ed 4d T S 81 MY 3R gurhy 27 &1 Ry §
€l TT| §H 3MTPHTRI BT qUi B &, Yot BT quiq Hd &, STATRAT BT qui B § 1 IR BIgS b1 qui- it
et A forar @2 Fras A W SToFT DI He 781 Hdl, s | TR 131 §1aT1 2, HUS A 81 o1d &1 37
R R Dis I, T 6 o) a1 781 avrar iR sHifeng Fius & o fbedt 1 gergyfa 78 a1 a8
¥9 gurd 2, fbq dewuar @ 919 4 g0 3@ P Has § $° 1 dicd 781 21 ugd dt a8 i Fras w130

959 Yor 21 TP & TNl R, TR P Iaral W SYaT IR R & Siadt $ust & e 50 99 Fas & 9
mmaﬂﬁélWﬁﬁf?ﬁﬁﬁﬁgﬁﬁmﬂﬁ@%m%muﬁwmm%mﬂaaﬁw
it afe ITH Bas 1, THTY StHY BT T 31 1Y, O I arde o Ay a1 GI-G 8 o°d &1 W &,
PaS BT A Ad & I favrs Srar 21

T8t & P 19 PHas @R TP ¢Ps ol Id ¢, a9 d fraq Yer fewa &1 e weft @ wa 3=
TSI § N USd] §, 99 Y@ ¢ TN oY 1 Usd ¢ A frR el oo o9 gaaa o fae sitas
T-1 el §3MT ST 8, 9 I8 TXY $© HH GaRd o1 ¢idT| 51 P1dg $T Y8 U $ @ o1 W 34
TR T 3R 3T Ble-g8 Ueht gad €, a9 &9 TG M 3R SN[aT1 fiD T I Uefs, Hed TR &
W?ﬁm‘gg\r X % 3ifhrd 3@ 3t T U HRAT A T Pt 351 &4 gidl 21 FhR w19 Fius wmer
@ TR WHIA 319 8l WY, 99 T, 34 U1, 44, %S, 961 3¢ & Ugg 39 W 3ifdrd g1d & Sud! 2T
AR A1 3R R o &) TR IS R W @ w3 A IR AU § v aw 78 R o
el 3R A & Rigl A 7 aRtved & HRAG g &1 R sfie € 59 $¢9 a@ | forar 8)-ur v
ghaT 81 Pias ST 8 a) T & fFAr a1 Riy & fFar ik a9 | it 7 81 @t W Tura uga=n @)

SR A T TR B UgHR A IR ¢ ¥ BT I« Iyl
w: g9 [5u-f5w 9 &1 av= o 72

1. I0ad § A P e

2. ATHTR, Gt 3R SR

3. B A BT

4. Tt e 1 181

Correct Answer :-

. SMHI, Yot 3R SR

30) 31T g Td # T WA ATHYD e 4TI T T AR MH1 IR A oeft | s e A aqra @A
HUTE § H T U411 URg g € NS A wwa ¥ g wod ud gz € oet off $i 7 7€ ), 7wt Iw f=n
FR-Bd Wt fHan @R HR Jbdl? JWA-3T T8T & d1ed 4d T 9 81 T 3R guTsp 37 &1 3my &t
B T §H ATHTR BT g B &, Jedt b7 9ufq wa €, Ser=ral o1 quiq #a 81 W Fias &1 quiH Haft
ot A o @2 Frae § IR STaAT IS TG e Heal, Fas A WK a1 ST 2, $US A & o &1 3
IR R FHas 33, T8 et B a1 1 aran 3R AT Fhas & forg feht &) gy =& et a5
wa guTf 2, fbg dewuar & 919 ) g1 380 f Pras A po pu died T 81 Tea A w8 fh s BT
959 Yo 81 AP & TN U, TR Pt Iardl UR YAl IR W F P HUS! & A 0 99 Fas & O
TN qHE B &1 FATTUT AN Bt UEY A U1 g st & et & fore ag 391 9gd Wi 21 Wil ad 90y



it afe IUH Bas 1, THTY SHHY BT T 31 1Y, a1 I arie D a7 A GI-G & o1d &1 W &,
Pras $T A Ad & T favrs Srar g1

T8t & fPTR I9 BHas @R ISP ¢Ps ol IMd &, a9 d fraq Yer fewd &1 wmer weft @ wia 3=
THSI A I USdl §, 99 GWI g TR o I usa 71 7t frar el 9o w9 Juaa ok Rien sias
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Topic:- General English(L2GE)

1) Fill in the blanks with the most appropriate preposition in the given sentence.

A learner’s language development infancy three years of age will depend on their exposure
to the language.

1. by, to
2. by, from
3. from, until

4, across, until

Correct Answer :-

e from, until

2) Fill in the blank with the correct option in the given sentence:
After exercising for six hours, she fell down due to exhaust--.

1. ---tion

2. ---sion



3. ---ance
4. ---ing

Correct Answer :-
» ---tion

3) Choose an appropriate modal for the given sentence:

I expected that I get a high score in Maths.
1. can

2. may

3. would

4. should

Correct Answer :-

» would

4) Choose the most appropriate determiner in the given sentence.
officer in the field has a key to the building.

1. Every

2. Many

3. Some

4, Most

Correct Answer :-

5) Choose the appropriate prepositions for the given sentence:

My mother, having her tea, settled a cozy armchair.
1. before, for

2. on, by

3. of,in

4, after, into



Correct Answer :-

o after, into

6) Choose the appropriate conjunction for the given sentence:

My friend did not play well, did I.

1. neither
2. either
3. because

4. only

Correct Answer :-
¢ neither

7) Choose the appropriate antonym for the highlighted word in the given sentence.

My father entered the room with an agitated look on his face.
1. Amused

2. Pompous

3. Cruel

4, Serene

Correct Answer :-
* Serene

8) Choose the appropriate option that rewrites the given sentence in its active voice.

Suggestions are invited sincerely by me for further improvement of my book.
1. I have sincerely invited suggestions for further improvement of my book.

2. | am sincerely invited suggestions for further improvement of my book.

3. I sincerely invited suggestions for further improvement of my book.

4. | sincerely invite suggestions for further improvement of my book.

Correct Answer :-

| sincerely invite suggestions for further improvement of my book.



9) Choose the appropriate synonym for the highlighted word in the given sentence.

Logging causes a great deal of environmental damage.
1. Cutting down of trees

2. Blocking

3. Making log cabins

4. Flooding

Correct Answer :-

« Cutting down of trees

10) Choose the option that best transforms the sentence into its Indirect form:

He said, “"God is great.”

1. He said that God is being great.
2. He said that God was great.

3. He said that God is great.

4. He says that God is great.

Correct Answer :-
¢ He said that God is great.

11) Choose the option that best explains the highlighted expression:
This camera of mine has seen better days.

1. is now in poor condition

2. is new and working well

3. was not working well

4. is good and working well

Correct Answer :-

e isnow in poor condition

12) Choose the option that best explains the highlighted expression:

To run out of mental alertness is worse than to run out of physical fitness.



1. To have plenty of
2. To be deprived of
3. To be drained of

4. To possess

Correct Answer :-
e To be drained of

13) Choose appropriate articles for the given sentence:

Chief Minister and Prime Minister are attending ____ meeting at 10.00 am.
1. No article required, the, a
2. The, a, no article required
3. The, the, the

4. The, a, the

Correct Answer :-
o The, the, the

14) Read the sentence carefully and choose the option that has an error in it:

I have scarcely no qualms about the rights and wrongs of my doing.
1. I have scarcely no qualms

2. about the rights and wrongs

3. of my doing.

4. No error

Correct Answer :-

¢ | have scarcely no qualms

15) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and



exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

What is cartography?

1. It is a photograph of the earth.
2. It is a drawing of the earth.

3. It is the study of map making.

4. It is a graph of the earth.

Correct Answer :-

 ltis the study of map making.

16) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

How has GIS helped companies in decision making?
1. By providing real time interactive map features

2. By providing an assortment of information

3. By providing artistic maps.

4. By providing digitally printed maps

Correct Answer :-

e By providing real time interactive map features

17) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in



understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

In this passage, “clay tablets” mean:
1. A flat slab of clay

2. A capsule made of clay

3. A floor made of clay

4. A small portable computer

Correct Answer :-

» Aflat slab of clay

18) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

Find the synonym of the word Plethora.
1. Abundance

2. Variable

3. Understandable

4. Legible

Correct Answer :-

e Abundance



19) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Where was the speaker after he fell sick?
1. At the park

2. At school

3. In the garden

4, At home

Correct Answer :-

e Athome

20) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip



Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Who said, “Shoo...get out of here”
1. Child

2. Teacher

3. Mother

4. Baby

Correct Answer :-

o Mother

21) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smiile
So I hid outside for my next victim

I knew I only have to wait a while.

What is the literary device used by the speaker in this line:
On my hassled, hapless mother.

1. Alliteration

2. Metaphor

3. Simile



4. Onomatopoeia

Correct Answer :-

o Alliteration

22) Read the poem carefully and answer the question given below:

Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

The speaker got sick because of .
1. germs

2. the sun

3. over eating

4, dust

Correct Answer :-

23) Choose the right tag:

They were late as usual, ?
1. did they

2. didn't they



3. weren't they

4. were they

Correct Answer :-

« weren't they

24) Choose the option that substitutes the given phrase appropriately.

A doctor who specializes in the treatment of children
1. Obstetrician

2. Entomologist

3. Pediatrician

4. Gemologist

Correct Answer :-
e Pediatrician

25) Choose the correct word to complete the given sentence.

My brother and __ are going to spend _____ vacation at a seaside resort.
1. they, theirs

2. he, his

3. me, its

4.1, our

Correct Answer :-

26) Choose the appropriate tenses to fill in the blanks in the given sentence:

Every day, the dog at the gate and the gatekeeper him.
1. wait, feed
2. waits, feeds

3. has waited, feeds



4. is waiting, is fed

Correct Answer :-

o waits, feeds

27) Choose the most suitable option to express the meaning of the sentences combined together.

The wind blew. The lightning splashed. The rain started falling.
1. The wind blew, the lightning splashed but the rain started falling.

2. The wind blew, the lightning splashed while the rain started falling.
3. The wind blew, the lightning splashed when the rain started falling.

4. The wind blew, the lightning splashed and the rain started falling.

Correct Answer :-
e The wind blew, the lightning splashed and the rain started falling.

28) Fill in the blank with the correct option in the given sentence:

An organization wants of its employees.
1. loyal

2. loyalty
3. loyally

4. lawfulness

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence.

My father’s computer is five years old and it needs to be --graded.
1. super-

2. up--

3. down-

4, de--

Correct Answer :-



30) Change the given statement to indirect speech.
She asked, “"Do you go to school every day?”

1. She asked me that if I went to school every day.

2. She asked me if [ went to school every day.

3. She asked that if I go to school every day.

4. She asked that do you go to school every day.

Correct Answer :-

» She asked me if [ went to school every day.

Topic:- Sanskrit (SAN)
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